Offset rgb* input data and LCh* output data

Color rgb* LCh*

R elementaryred 100 47,7426

Ye elementary yellow 110 86, 88,92

G, elementary green 010 53, 57,164

Be elementary blue 001 42,45,271

N black 000 18,0,0

W white 111 950,0

(data according to test chart DIN 33872-2, p. 9-12)
(CIELAB hue angles according to CIE R1-47)

9 step offset colours in CIELAB colour space
LCh*y = 95, 0, 0 ICC encoding space

rgb*w =1,1,1 ,CIELAB ligthness L* (Crap L1
White W =(142, 100

ha= 26
I* =75

9 step: red R
LCh*g = 47, 74, 26
BlackN 9 stepsgb*gr = 1,|0, 0
LCh*N =18, 0,

rgb*y =0, 0, 0 C*ap =37 100
rgb*e =0,75, 0,25, OCIELAB chroma C%j
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